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1) £F0)=ax+9
(7)W=
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1) 40)=ax+9
L () -FW)=

C(¥= 2x+9

— 2(+4= 13
Esz?) = 'L(q-\“'o' = 17)

Jul 12-10:37 AM

August 02, 2012

C(2)-HY)

—=23%-|77
= L



function-probs.notebook August 02, 2012

2 F0J=HX-2
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) fW]| X £ix)= 2

11 " '\-?1
mtla | N
Cm)= 28 = 13
o5n=\ _
Hn)= 22— = M2
6M—l':.‘2.\4
5”“-"15 51\-‘-36
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4) f(x)=-2x°+11 if f(x)=3 x=?
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4) f(x)=-2x%+11  if f(x)=3 x=?
-')j:\l= 3
Y= -9
=
=t

§) €)= -
.p( 10‘ _2(“.3.'-\\ - =327}

.(:(~2\- -2(W)+1 = -sEll

X
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§) )= &0 el
- f)=b

b+ °\=.7
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§)  £0)= 07 caery

B fA)=b

b+ o=

fziy  €()=b
G% S

= < 8 (j%)a\p @

%g(a*'\Y‘ L b

¥ - 4 G
L= G\ ¥ I e

%:b and -“,,_-\-“mn'\'
(55)
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6) f(x-3)=x*-6x+9

A) X

B) x-3

C) x°

D) x%-6x+6
E) x*-6x+12

f(x)=?
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6) f(x-3)=x%-6x+9 f(x)=?

A) X
e C(x-2)=X*= bx+
g)) x2-6x+6 = (X -3y X "3)

E) x%-6x+12 -—C (’(—' _5) - (¢ 3)‘).
() =x" @

) & A 3:
A

Jul 12-11:02 AM
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7) f(x)=5x-1 f(4)+f(2)+1=?

A) 1(2)
B) f(4)
C) £(5)
D) £(6)
E) £(8)
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7) f(x)=5x-1 f(4)+f(2)+1 =72
A) f(2)
B) f(4)

€) f(5) fH=2- F(D=10-\

D) f(6)

IO B (o-\v\ = U

2a=5x~|

W=
)(c-Q)L @

Jul 12-10:49 AM
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¢) S0= by
x- Hx) =

~6%—~")
\.(
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9) ris a positive integer
r’ when r is prime
f(r)=

r-1 whenr is not prime

if f(3)-f(4)=y, what is 2y
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9) r is a positive integer

r- when r is prime
f(r)=
r-1 when r is not prime .:(3\ -;(10 =Y

if f(3)-f(4)=y. what is 2y L (“ ‘) Y
0' -2 =Y V=G
Ao 2
Yy ¢

18



function-probs.notebook August 02, 2012

10) Each of the following is within both the

domain and range of C(x)= %:‘,_‘
EXCEPT:

A) 1
B) 2
C) 3
D) 4
E)5

Jul 12-2:44 PM
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10) Each of the following is within both the
domain and range of ()= ?1.:',_‘

EXCEPT:

X-¢ # 0
A) 1 %5‘( = Fl:w v X4 .
B)2 X x+ 22 D

R #0
D) 4 So a\l ONS WS ol <

E)5 17 Rang @ (+)

Jul 12-2:35 PM
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11)

August 02, 2012

X

2

3

f(x)

11

14

if f(x)=ax+b and satisfies the above table
for the values of x shown, what is b-a?

Jul 12-2:44 PM
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.;(x):: aLx-+b
&( ()"—‘ rtb =% | O+ 5=F

—

C(y= b=3 o=3

if f(x)=ax+b and satisfies the above table
for the values of x shown, what is b-a?
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X -110 1 2 3

fx)| 2 |5 | 8 [11 |14

Jul 12-9:12 AM
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